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1. Ah Keong is a retailer. He bought 200kg of carrots for the price of RM50.40.  

10% of the carrots were spoilt and have to be thrown away. If Ah Keong wants a 60% 

mark-up based on the retail price,  

(a) Find the retail price of the carrots per kg. 

(b) Find the profit obtained by Ah Keong. 

(7 Marks) 

2. After a markdown of 30%, an antique table is sold for RM 875. What was the original 

selling price? 

(3 Marks) 
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No Answer Marks 
1 RM 50.40 for 200kg carrots 

So 1kg = RM0.252 
10% of 200kg=20kg are spoilt 
 
R = C + M 
R = RM 50.40 + (60%)R 
    = RM 50.40 + 0.6R 
0.4R = RM 50.40 
R = RM 126 
 

R = 
RM126

RM0.70perkilogram
180kg

 

Profit: RM 126 – RM 50.40 = RM 75.00 
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  7 Marks 
2 MD: 30% = OP – NP 

30% MD = 
MD

x100%
OP

 


OP-875

30% x100%
OP

 

0.3 OP OP - 875  

0.7 OP 875  

OP RM1250  
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M1 
 
 
A1 

  3 Marks 

 

 

 

 

 

 

Mathematics for Management 
by Nor Alisa Mohd Damanhuri  
http://ocw.ump.edu.my/course/view.php?id=440 

http://ocw.ump.edu.my/course/view.php?id=440

